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Q1- How many 4 letter word with or without meaning can be made from the letters

of the word ENIGMA when repetition not allowed.

o N

Q1- ENIGMA T8¢ o 378700 © 379 o 91y A7 foAT 37 o

Fehdl & STel TR ol STAfT el 2

[Shd- 4 3T Iec ITT S

m o 0wy

360
120
240
300

None of these
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Q2- How many 3 digit number are there which are divisible by 4.

T 2- WET fohaT 3 37ohig G4 & ST 4 ¥ fowrsg 87

125
215
225
315

None of these

Mo 0w >
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Q3- Tickets are numbered from 1 to 50. One ticket are drawn at random. What

is the probability that ticket drawn is a multiple of 3 and 7.

Q3- feshe 1 9 50 ek T 51Tt 81 Uk foehe Ao &9 O dar fRu IId 81 3 37 7

o TUTST H Tiehet 1T feehe shl STk o7 27

m o 0w

23/50
31/50
27/50
21/50

None of these
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Q4- In a set of number the average of first two number is 14, the average of last
two 1s 18 and the average of first and last 1s 16. Find the average of all the numbers.
Q4- TEATT o Ueh THE H Ug! 31 §&AT! =T 3 14 8, T <1 Seast| o1 Sfed
18 8 AR Uit AR Sl T 3T 16 81 Tt G&ATHT 1 36 J1d shifo|

111/3
123/3
110/3
91/3

None of these

m o 0w
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Q5- 2 men and 1 woman can complete a work in y days while 2 men and 4 women

can do the same work 1n y-6 days. If men gets Rs 1200 and women gets Rs 800

then find value of y.

Q5- 2 T8 3 | AT Teh hrd ol y T H 90 L Hehd & STelteh 2 T8Y 3 4 AfgaTg
It 1 T y-6 forAl § 90 L Tehel g Al To ol 1200 &9 THerd & SR ATGATSHT bl
800 T Tietd & T y ohT |19 1 ShifeTg)

12 days
14 days
16 days
20 days

None of these

m o 0w
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Q6- The ratio of time taken by boat P and boat Q in upstream1s 2 : 1. The ratio of
time taken by boat P and Q in downstream 1s 3 : 2. The speed of boat Q 1n still
water 1s what percent of current.

Q6- ATe P HITATE Q ST G o Hfciehed (el 7T {H shT STUTA 2: 1 81 1 P 3R Q
ST T o6 3Aehe] foTT 71T &HY T 3T 3: 2 &, R arl § A1 Q h 7Ti &y <Al

fomaeT gfaerd &7

100%
200%
150%
300%

None of these

m o N w >
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Q7- A rectangular park having length and breadth 60 m and 40 m respectively. It
has a 20 m path all around 1t on the outside. Find the area of path.

Q7- Tk TAATRT UTeh fSTEehl TeTs 3T SIS ShHT: 60 m 3T 40 m B 38k = 3T
STEX hl d% 20 HIeX T 9 Bl U T A% JTd shifory)

5600 sq. m
3600 sq. m
2200 sq. m
4200 sq. m

None of these

m o 0w
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Question 8- A vendor sells news paper at the rate Rs 6 per copy and earn a
commission of 12%. If he sells 800 copy per day then how much commission he

will earn 1n 2 week.

T 8- Teh TIshd ] THTER U5 1 6 T4 Ui hidt shl € & S=dT & 3T 12% FHITE
FHATAT 1 Afe a8 T feT 800 Tl =T ® 1 918 2 HHTE | foha T hH i3 AT
HATT?

A. Rs 1244
B. Rs 1344
C. Rs1214
D. Rs3314
E

. None of these
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Question 9- What value will come 1n place of question mark.
T 9- I TI& oh T I AT HH AT
35% of 800 — 25% of 1200+ 630=?—-111/3

757
6538
839
577

None of these

MO 0w R
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Question 10- What value will come in place of question mark.
57 10- 57 ToI@ o T W T JF T2

87.5% of 1600 =— 5 + 440 =27 + 350

307
703
442
370

None of these

m o aw
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Question 11- What value will come in place of question mark.
57 1 1- 957 ToI@ o T W T {1 T2
62.5% of 256 — 18 + 33.33% of 1800 =7 - 421

A. 134
B. 431
C. 341
D. 441
E.

None of these
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Q12- Two equal vessels P and Q having milk and water inratio3 : Sand 1 : 4.

respectively. If two vessels are poured in to a third vessel then find ratio of mil and

water in new vessel.
T 12- 31 THM o9 P R Q IS ger M arft sh7 21701 3: 5 31T 1: 4 21 ShATTER
fe Toh e ST | &1 T STl ST & dF ¢ ST H HieT 3 1T shT ST T shifsial

23 : 13
23 : 11
23 :57
21 :53

None of these

m o 0w




MISSION IBPS 2024 (SUPER 15 BATCH)
TELEGRAM GROUP- MathbyTarunsir




MISSION IBPS 2024 (SUPER 15 BATCH)
TELEGRAM GROUP- MathbyTarunsir

Q13-a sum of Rs 8000 becomes Rs 12,400 in 4 years with a certain rate of simple

1
interest. If the rate of interest increased by 6 7 % then what sum of money

becomes Rs 43200 in 4 years.
8000 %- <hT RIS LTI GTEOT SATST shl ek A2 aT o €11 4 991 § 12,400 %- B ST 2|

I AT HI TH 6 iaﬁaﬁgeﬁaﬁ, qr 4 91 § feRat GFIST 43200 €9 & STt 82

Rs 24,000
REPAXIY
Rs 34,000
Rs 18,000

None of these

m o 0w
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Q14- A sum of Rs x 1s invested at 5% per annum compound interest for 2 years but
by mistakes recetved money is 2.25 times of the Rs x. Find the rate of interest per

annum for this money.

Q14. x T T URTHI 2 T o TeTT 5% TATTHeh FAshafg, SATST UX {Hol3T fohT SITAT &, Tlohd
T § TH &, x 9 3T 2.25 1 €| 36 U o foTu Sfeq o STt shl &2 J1 shifsiy)

50%
20%
30%
25%

None of these

m o 0w
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Question 15-
(i) 15x*-34x+15=0
(i) 3y? -14y+15=0

(N x>y

(i) x<vy

(i) X >y

(Iv) X<y

(v) x=yorrelation can’t
be established,
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